
Toutes les Opérations (I)Calculez chaque somme, différence, produit, ou quotient.64 ÷ 8 = 14 × 1 = 13 × 1 = 11 + 14 =6 × 5 = 4 × 7 = 11 + 4 = 6 × 11 =4 × 11 = 5 + 11 = 12 + 4 = 15 × 5 =15 + 7 = 11 + 4 = 9 - 4 = 21 - 6 =9 - 4 = 65 ÷ 5 = 78 ÷ 13 = 40 ÷ 10 =6 ÷ 6 = 1 × 10 = 11 × 14 = 18 - 9 =15 - 3 = 8 × 7 = 10 + 3 = 15 × 13 =1 × 1 = 15 × 7 = 55 ÷ 5 = 20 - 13 =10 + 3 = 8 - 4 = 45 ÷ 5 = 20 - 12 =7 × 11 = 48 ÷ 8 = 72 ÷ 6 = 20 ÷ 10 =14 - 8 = 32 ÷ 4 = 8 + 15 = 2 × 9 =13 × 1 = 1 × 13 = 13 × 8 = 15 - 2 =18 ÷ 3 = 52 ÷ 13 = 8 + 9 = 12 - 8 =6 × 10 = 3 + 6 = 24 ÷ 8 = 13 + 4 =5 × 7 = 15 ÷ 15 = 20 - 15 = 12 ÷ 1 =15 - 1 = 12 × 7 = 5 + 5 = 12 ÷ 1 =12 × 13 = 23 - 12 = 14 + 4 = 2 + 10 =45 ÷ 9 = 48 ÷ 12 = 4 ÷ 2 = 16 - 6 =7 - 4 = 78 ÷ 13 = 14 + 14 = 14 - 4 =6 + 15 = 3 + 10 = 13 - 3 = 99 ÷ 11 =3 × 5 = 42 ÷ 14 = 5 × 13 = 6 + 9 =195 ÷ 15 = 11 - 6 = 2 + 15 = 3 × 14 =24 ÷ 8 = 20 - 6 = 18 ÷ 6 = 3 × 11 =9 × 12 = 27 - 15 = 11 × 10 = 8 - 1 =2 + 13 = 104 ÷ 8 = 42 ÷ 6 = 2 + 7 =Mathslibres.com



Toutes les Opérations (I) RéponsesCalculez chaque somme, différence, produit, ou quotient.64 ÷ 8 = 8 14 × 1 = 14 13 × 1 = 13 11 + 14 = 256 × 5 = 30 4 × 7 = 28 11 + 4 = 15 6 × 11 = 664 × 11 = 44 5 + 11 = 16 12 + 4 = 16 15 × 5 = 7515 + 7 = 22 11 + 4 = 15 9 - 4 = 5 21 - 6 = 159 - 4 = 5 65 ÷ 5 = 13 78 ÷ 13 = 6 40 ÷ 10 = 46 ÷ 6 = 1 1 × 10 = 10 11 × 14 = 154 18 - 9 = 915 - 3 = 12 8 × 7 = 56 10 + 3 = 13 15 × 13 = 1951 × 1 = 1 15 × 7 = 105 55 ÷ 5 = 11 20 - 13 = 710 + 3 = 13 8 - 4 = 4 45 ÷ 5 = 9 20 - 12 = 87 × 11 = 77 48 ÷ 8 = 6 72 ÷ 6 = 12 20 ÷ 10 = 214 - 8 = 6 32 ÷ 4 = 8 8 + 15 = 23 2 × 9 = 1813 × 1 = 13 1 × 13 = 13 13 × 8 = 104 15 - 2 = 1318 ÷ 3 = 6 52 ÷ 13 = 4 8 + 9 = 17 12 - 8 = 46 × 10 = 60 3 + 6 = 9 24 ÷ 8 = 3 13 + 4 = 175 × 7 = 35 15 ÷ 15 = 1 20 - 15 = 5 12 ÷ 1 = 1215 - 1 = 14 12 × 7 = 84 5 + 5 = 10 12 ÷ 1 = 1212 × 13 = 156 23 - 12 = 11 14 + 4 = 18 2 + 10 = 1245 ÷ 9 = 5 48 ÷ 12 = 4 4 ÷ 2 = 2 16 - 6 = 107 - 4 = 3 78 ÷ 13 = 6 14 + 14 = 28 14 - 4 = 106 + 15 = 21 3 + 10 = 13 13 - 3 = 10 99 ÷ 11 = 93 × 5 = 15 42 ÷ 14 = 3 5 × 13 = 65 6 + 9 = 15195 ÷ 15 = 13 11 - 6 = 5 2 + 15 = 17 3 × 14 = 4224 ÷ 8 = 3 20 - 6 = 14 18 ÷ 6 = 3 3 × 11 = 339 × 12 = 108 27 - 15 = 12 11 × 10 = 110 8 - 1 = 72 + 13 = 15 104 ÷ 8 = 13 42 ÷ 6 = 7 2 + 7 = 9Mathslibres.com


